TLHEMAEF 5 2025 R =ZFE _HEE IR (3)

HEZ B H HA PR
1.¥%a = In1,b = log,3,c = 2¥2 lla, b, cliI KN LR N ( )
Aa<b<c Ba<c<b Ch<c<a Db<a<c
2Bf(x) =22, f(@) = 2+ f(logz3) Ma = € )
A2 +log;2 B.2 +log,3 C.2 —logz2 D.2 —log,3

3 RHf (x) = logi(4 — x) + logaxPHRYIEIMX N ¢ )

A(2,4) B.(0,2) C.(2,40) D.(—0,2)

4. CLRIBR LS () = log, (a — —5) + b A B ELF (O MBI R T A (LO)RTFR Mlloggh = € )
A. -3 B. 2 C—3 D.—3

5. 2924 i AVESS BRI, B LR (R 5R AR B2 LARE /NI 25 % 13 2 a2, 3 — PP P B i 31\ A4
P EAE TR PP PR AR AR B LAsE /NI 109 1 328 2 9 /D 30 BT IS 25 PR 6 585 43 )i 56 80 0mg 245 it AT
500mgZ4 i B, 4 A7 A AR N 24 it I B A 1 S AR A IS, Pir e T B I TR) 28 (2% 3R 1g2 =
0.301,1g3 ~ 0.477) )

A.057 h B.1.36 h C.258h D.3.26 h

6.4 IE%a, b, cififEa + 279 = 2,b 4+ 3% = 3,c + log,c = 4, IE5X % a, b, cZ AR/ R R A
( )
Ab<a<c Ba<b<c Ca<c<b Db<c<a

7. R (2x + 1) R EL B R g (x) = F(x) + 217X 4 2%~ — 5{F SN A,
M=« )
Al B.2 C.3 D.0

Mz x <
8. CLAIIERHf (x) = {fm}xx_>06 g

)I_I\le + Xy = ( )
A.0 B.3 C.6 D.9

() = x = 3,77 R f(g(x)) = =3 — gC A PRI, 4 5y, x,

0.[F 3] NSy, y, 2 /12 = — = logoz W FAIAS A AEAL IR ()
Ay<x<z Bx<y<z Cy<z<x Dx<z<y

10.[BHE] DA (1) = S0 FAREERIRE ()

Af () N7 R AL B.f () ik ki £
Cf)BHREIEN D.f (x) {EICH[-1,1)

1 X
11[BE O RS (x) = |21_ (El) X = 0'7‘77|<£f2(x) +2f(x) —m = 0(m > 0)f3 4 NA[A 53
ogyx|,x >0,
FR, N B RAR IR S 20, X5, X3, 204, W R AN URIEES R E ¢ )



12.2513* = %,y logs3 = 1,Mlx +y =

13 WBE 2 A « AR REAR L K AR D IE ) R BB LA b, DAn T Sk OB I AORE R 9P, (n) =
log, "T“,F\” FH b s ] DU I FE e 28 R | b 28B40 2 T A E S B B 15 R bt e e A 1
il AR DR B AT v, DA 1 T Sk 0280t B RO MR 3 R 24052 A 9 TSk O L I R R 1) (&%
#H:1g2 = 0.301,1g3 = 0.477).

14.CHIRELS () = V4 — x2 + k(x — 4)H 2 DAFRIZE 53, Mk BUE G :

15 48 T B o), 715 9 Howo, B o) Gk + 2) = 1350112 % 0, JUFRF (o) T BB 5
*,x >0,
ORI BMEHA B (x) = {el T REF GO 8 TH LA MR

xiaX
BN ¢ D
A(2,€) B.(2, +0) C.(=12) D.(25,e)

2

16. DRI H () = In =D o(m > 0) 5 ALK [R) ab)_ 195 B850, I S2h (R AFE 8 A
C

A.(0,9] B.(0,3] c(o7 D.(0.3]

logi(1—x),-1<x<mn, » ) .
: MR- 1,1] %n € [0,2) MmO ETEERE
22711 _3 pn<x<m 2

17.CHBRELS (x) = {



